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_@Ready To Go On? Quiz

9~'1 Developing Formulas for Triangles and Quadrilaterals
Find each measurement.

1. the area of the parallelogram 2. the base of the rectangle, in which
A = (14x* + 35x) ft*
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5. Part of a stained glass window is shown at the right. Each square in
the grid is 1 in. long. Find the perimeter and area of the dark gray

parallelogram. 9 = (LQE X :l\[% \ | 4
- 2 7
b= 9 in - -

9-2 Developing Formulas for Circies and Regular Polygons
Find each measurement. Round to the nearest tenth. '

6. the Qircumference -of OCin terms of o 7. the area of ©Kin ferms of &

C:(\(?f\‘r\)éd A = o) w
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% Ready To Go On? Quiz continued

Find the area of each regular poiygon. Round to the nearest tenth.

8. a regular hexagon with side length 8 cm 9. a regular pentagon with apothem 10 m

_R=86V3 om>_ . A=3L3.3 mY

9.3 Composite Figures
Find the shaded area. Round to the nearest tenth, if necessary.

10. 11.

= o
A = 1O om? A= 407 B
12. Joel is fertilizing an irregularly shaped garden, as shown.
The grid has squares with side lengths of 1 m. Estimate ]
the area of the garden. Given that fertilizer cost $2.99 \ /
per square meter, find the cost of the fertilizer. ' // /
A 1S ow? ‘ | \

Yerna\iy Cosy = Bu3, 35
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9.4 . Perimetér and Area in the Coordinate Plane

Draw and classify the polygon with the given vertices. Find the
perimeter and area of the polygon.

1. A(=1, 4), B2, 4), C(2, =3), D(-1, —=3)

2. E6, —2), A3, 3), G(—1, 8), H(—4, —2)
\y

(Bl 8-

L'U"KOJV\%\L A=nur 0= 20

“Teesens Voo, =35> P= \‘t—ra\[a?f
w

Find the area of each polygon with the given vertices.
3‘ J(4’ 5)5 K(_Z’ _1)5 L(.l: —3), M<6: —2)

4. N(—3, 2), M(1, 5), P(5, —1), Q(1, =5)

A= 33.5 w A= Do W
9.5 Effects of Changing Dimensions Proportionally
Describe the effect of each change on the perimeter.and
area of the given figure.
. . . 9t
5. The side length of the square is doubled. Pomexy 15 madiiphed
Mo arece WD Mutsglet WA AL kalak
6. The diagonals of a rhombus in which d; = 8 m and d, = 7 m are both
multiplied by %
‘ ) £
. . . 1 ~ - 1
e ViAmerer 1§ st o ey Jr . Pre 1 muadSpuad ba Iy ¢
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@ Ready To Go On? Quiz continued

7. The base and height of the rectangle are both tripled. 14 in.

?enke:ke:r S Wau s \gC\gdL\@a 3 6in

Ares 13 watsived oy G,

8. The base and the height of a right triangle with base 12 cm
and height 18 cm are multiplied by —13—

"Permedor TS maatsipad ooy 3, Avea s wadfined by g,
9. A square has vertices (—4, —1), (1, —=1), (1,4), and (=4, 4). If you multiply the

area by 9, what happens to the side length?

eS80 \omgdn IS Wudiplied leo 3.

40. A sports photographer sells team pictures. The cost of each picture is based on
its area. Wallet-sized pictures measure 4 cm by 6 cm and cost $1.39 each. The
photographer sells a larger picture that is three times thelength and three times
the width of the wallet-sized picture. How much does the larger picture cost?

X a5\

9-4 Geometric Probability ' ‘
Use the spinner to find the probability of each event.

11. the pointer fanding ih the gray or white region &513@

1
12. the pointer landing in the striped region } L

13. the pointer not landing in the dotted region ?}Ol

S 9
14. the pointer landing in the dotted or white region ) 12

15. A television station plays 14 commercials every half hour.-Each commercial is

30 seconds long. If you turn on the TV at a random time, find the probability that
a commercial will be playing. ’

7/3c X 0,33
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